L ¢

>

DESTROYER
FRONT
BUMPER INSTALL

JL

STEP1:

GATHER YOUR TOOLS
AND LAY OUT YOUR PARTS...

Tools Required: Hardware Provided:
- Utility knife - Eight_(7/16"—14 x 1.25%)
- 11/16" Deep socket mounting bolts

- Eight (7/16"-14) flange nuts
- Four (7/16") washers
- Eight (#8 Size) screws

- Ratchet

- 11/16" Crescent wrench
- Ratchet Extension

- 1/4" socket

- Electrical tape

*shorty bumper to
show hardware*

JL18FBDSINS - REV 2 03/02/18 Page 1



. o . E ey T : A
You can now remove the trim strip (2 vertical clips, 4 horizontal, 2 screws) to access the bumper
mount bolts.

You can now remove the trim strip (2 vertical clips, 4 horizontal, 2 screws) to access the bumper
mount bolts.

JL18FBDSINS - REV 2 03/02/18 Page 2



There will be 2 screws holding the trim strip to the vehicle body, one on each siae.
These can be accessed by reaching through the wheel well.

- You can now remove the trim strip (2 vertical clips, 4 horizontal, 2 screws) to access the bum er
- mount bolts. -

i 1(

Also remove the factory skid plate. Start with the two 6mm §crey}is or
e

JL18FBDSINS - REV 2 03/02/18 Page 3



The skidplate is held to thel vehicle with eight (8) clips in the front, and the two bolts you just removed, on
the bottom.

Also remove the crash bar, there are two bolts holding it on.

After the bolts are removed, you will shift the crash bar slightly up, then pull towards you
to remove the tabs out of the opening.

Undo the harness plug that connects the foglights to the vehicle.

JL18FBDSINS - REV 2 03/02/18 Page 4



The bumper is secured to the vehicle with four (4) bolts on both sides. Remove these and the bumper
should come of the vehicle.

The bolts that hold the bumper

together are held in place using

locking tooth washers, you can either

pry them up with a screwdriver, or

cut them off using a sharp chisel or
similar tool.

We placed the chisel perpendicular to

the surface and gave it one nice hard

hit. After this, you should be able to
grab the edge pith a pair of pliers.

JL18FBDSINS - REV 2



Next, remove the labeled T-25 screws from the bumper, this will allow you to access the foglight,
located underneath.

Once the plastic trim piece is off, remove the three T-20 screws (circled) that hold the foglight
housing in place. The next step will show you how to remove the light from the housing.

JL18FBDSINS - REV 2 03/02/18 Page 6



Next you will remove the factory
foglight from the stock housing. Do this
by pressing together the sides of the

mounting snap pins.

Next, push the light into the new
housing, with the long adjustment
screw inserting into the farther panel.

The pins should slide into
the openings fairly easily.

STEP 2:

Lay the Destroyer bumper so
the top is facing away from you,
so you can insert the factory
foglights.

©

JL18FBDSINS - REV 2 03/02/18 Page 7



STEP 3 :

- Line up the holes and attach the
~ lights with the (8) provided 1/4"-20 X
0.75" Hex head hardware.

STEPS5:

LOCATE THE MOUNTING HOLES
AND LIFT UP THE BUMPER TO
ALIGN THE MOUNTING HOLES ON
THE BUMPER AND THE VEHICLE
FRAME.

STEP :

GENTLY SLIDE THE BUMPER OVER
THE FRAME MOUNTS AND SLOWLY
MOVE IT FORWARD, LETTING IT
REST ON TOP OF THE FRAME.

STEP 7 :

HOLD A BOLT BETWEEN YOUR FINGERS

AND "HOOK" YOUR HAND, REACHING

BEHIND THE MOUNT PLATE TO START
THE OUTSIDE CORNER BOLTS.

EACH MOUNT WILL HAVE 4 BOLTS.

JL18FBDSINS - REV 2 03/02/18 Page 8



~,, GRAB A PIECE OF TAPE AND STICK

IT TO THE INSIDE OF THE WRENCH,
TO ENSURE THE NUT FITS SNUGLY
STICKY AND DOES NOT FALL OUT.

SIDE IN

STEP 9 :

PLACE A NUT INTO THE WRENCH,
THEN PLACE THE WRENCH INTO
THE ACCESS SLOT. ALIGN THE NUT
WITH THE TOP CORNER BOLT.

STEP 10 :

ALIGN THE NUT WITH TOP CORNER
BOLT YOU INSERTED EARLIER, THEN
HAND-TIGHTEN IT.

REPEAT STEPS 7+8 ON THE
OPPOSITE CORNER BOLT.

STEP 11:

-CONTINUE TO USE THE
TAPE+WRENCH TO HAND-TIGHTEN THE
REST OF THE MOUNTING BOLTS.

- REACH YOUR HAND THROUGH THE
BACK OPENINGS TO FEEL FOR THE
BOLTS.

JL18FBDSINS - REV 2 03/02/18 Page 9



STEP 12 :

- MAKE SURE THE BUMPER IS

CENTERED, WITH THE OUTER

EDGES MATCHING UP TO THE
GRILLE.

-VERTICAL ADJUSTMENTS CAN BE
DONE AT THIS TIME, WITH ABOUT 1”
OF TRAVEL AVAILABLE

STEP 13 :

-ONCEALL THE BOLTS ARE HAND-
TIGHT, THE TAPE CAN BE REMOVED
AND THE WRENCH AND SOCKET
CAN BEUSED TO TIGHTEN THEM
THE REST OF THE WAY.

*IF YOU’RE NOT USING A WINCH,
SKIP STEPS 14 - 16.

STEP 14:

-PLACE THE WINCH AND FAIRLEAD
OVER THE BULLGUARD AND DOWN
ONTO THE BUMPER.

STEP 15 :

-LINE UP THE HOLES IN THE WINCH

WITH THE SLOTTED HOLES ON TOP

OF THE BUMPER. YOU SHOULD BE

ABLE TO SEE DIRECTLY THROUGH
THE HOLES.

JL18FBDSINS - REV 2 03/02/18 Page 10



STEP 16 :

-INSERT THE FOUR WINCH MOUNT
BOLTS INTO THE OPENINGS AND
TIGHTEN THEM DOWN TO SECURE
YOUR WINCH IN PLACE.

STEP 17 :

-THIS CONCLUDES THE DESTROYER
SERIES FRONT BUMPER
INSTALLATION, YOUR PRODUCT
SHOULD BE MOUNTED AND READY
TO USE.

- FOR SKIDPLATE USERS, FOLLOW
ACCESSORY DIRECTIONS.

JL18FBDSINS - REV 2 03/02/18 Page 11



+UMOYS Jeq|INg YIM yIpIm|ny,

NOILHO I¥OD 43dMOd ADV1d =eg8ladl 2
NOIdO 13315 38vd = ¢Zgladr 'l

SIION
JLON 335-8184r

dvd 11N4d HLIM d3dWN4G
INOJ4 HIAIM T1N4 d3A0H1S3A

INOILHIDS3a
D11 dol
zi 30L¥7d ONIZ S28° X B/60 HAHSYM LV 14 dzrigemd] ol
T 91 | 31v1d ONIZ 529" X.¥/ 19 33HSYM Lv13 d70152Md| 6
] YO Q3Lv1d ONIZ0Z-#/1 LN X3H C¥DJI0Z5¢NH| 8
8 9O 31v1d ONIZ 1108 X3H SZ X 02-F/1 1108 X3H| _ S4DdIC1025C8H] £
NOILJO IVOD g
¢ ¥3AMOd ¥Dv19 - 13738 LHOIN 504 1 433r d8l0-00818117| 9
] 31V1d DNIZ #1-9 1/£ 1NN FONYH X3H dZvICPNGH| ©
8 Q3LV1d ONIZ.SZ | X 91//0 ¥IHSYM Lv 1 d1eieymd v
[SY5)
8 31V7d ONIZ 1108 X3H 0S| X p1-91/£ 1108 XaH | SYOJIVCrIEVEH) €
A NOWLAI¥DS3a s3awnN avd | 2N
TIVMAIvH
P 240|d 0607 obojao1 ¢
NOILAO
I 1¥OD ¥30MOd ID¥1E - 38 TING/M INIWQTIM|  d820-02£084r %
¥I4WNG HIAIM TINJ SII3S 834081530
NOILJO 13315 33vd - dv8 11N/M INIWA1IM -
: ¥3dWNE HIdIM 1104 SIS ¥3408153d §9c0-0cL08drY| |
D/avE "ON
1108 HilM NOILJI3DS3a aaewON Lvd | 2

1HON D04 4331

Page 12

03/02/18

JL18FBDSINS - REV 2



JLU Wrangler
Destroyer Series
Front Bumper
Shipping Slip

FULLWIDTH

ADD STINGER

*only available on shorty*

MIDWIDTH ﬁ? :Q:

SHORTY BUMPER
SIZE

ADD BULLBAR

Hardware Kit
(Contents may vary) JL Wrangler Bezels Skidplate

JL18FBDSINS - REV 2 03/02/18 Page 13



Destroyer Front

Bumper Shipping
Slip

*please check contents when

opening/assembling package

7/16 Washers

(x8)

1

—_
f

!

7/16" Flange Nuts

(x8)

L0 U L
L 0 0 0

7/16 (14)
x 1.5" Hex Bolts (X8) Assembled By :

Date :

JL18FBDSINS - REV 2 03/02/18 Page 14



& 0000

(OO
OO0 ..
@@@@<Mﬂ
©OO©

OO
OOOO) i
© @ © @

SSSSSSSSSSSSSSS

HHHHHHH

PPPPPP



Destroyer Front
Skidplate Shipping Slip

*please check contents when
opening/assembling package

3/8"x1.5" Buttonhead

(X2) (x4)

0

3/8" Nuts @

NG
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\0 ©

5/16"x0.75 Buttonhead
o e Assembled By : @
(X4) Date :

5/16" Washers

(x4)

—---‘ _—-'-_
= —
———— ———
-—-'- -—-'-
—— —————
— —
— ==
] ————
————] ]
——— =
= —
—— =
——— ———
— —
——— ]
———— ]
— —
] —_—
———— ]

[ |

JL18FBDSINS - REV 2 03/02/18 Page 16



